PRODUCT CATALOGUE 315




CHAPTER 7 ADAPTORS

HYDROSCAND ADAPTORS
PRODUCT GROUP 700 AND 300

Hydroscand can offer a wide range of adaptors (connec-
tor nipples) for different purposes such as:

- transformation between small and large thread dimen-
sions;

- swivel transformation for solid threads;

- connecting hoses or pipes with threads in valves,
pumps and cylinders;

- transformation between different thread systems
- bulkhead connection for hoses

- branching pipes or hoses with T-connections;

- sealing off pipes, hoses or thread endings.

Our adaptors are normally manufactured in carbon steel
of hydraulic quality, i.e. in a crack tested material. The
standard surface treatment is E-Coated, which is the
name of the surface treatment we use on our fittings.
This surface treatment is CR 6-free and is therefore bet-
ter for both the environment and personal health.

Elbow and T-adaptors are normally brazed but some are
available in forged design.

When dealing with higher pressures, avoid if possible
adaptors with R- or NPTF-thread since these are harder
to seal and often crack the parts when tightened too
excessively.

Hydroscand reserves the right to modify any or all parts
of this catalogue without any prior notice.

TECHNICAL SPECIFICATION - ADAPTORS
Material: Steel

Surface treatment: E-coated Fe/Zn 8 P1T
Temperature range: -40° - +155° C

TABLE OF CONTENTS

STRAIGHT ADAPTORS PAGE
7002 GMxGM 317
7003 G M x G M flat face sealing 317
7005 GMxGF 317
7007 GFSxGFS 318
7008 GMxGFS 318
7009 GMx G Flong 318
7010 G M x G F short 318
7011 GFxGF 319
7012 GMxRM 319
7013 GMxJICM 319
7015 GMxSAEOM 320
7016 G M x JICFS 320
7017 G M ED X G F short, ED seal 320
7018 G M ED X G F long, ED seal 320
7019 GMXMM 320
7022 G M X NPT M 321
7023 RMXRM 321
7027 G FS X NPT M 321
7070 MMXMM 321
7071 Special adaptor for high pressure washer 321
7072 Special adaptor for high pressure washer 321
7073 Special adaptor for high pressure washer 321
7074 Special adaptor for high pressure washer 321
7075 Special adaptor for high pressure washer 322
7081 Banjo G M 322
7082 Banjo M M 322
7090 Bulkhead GM X G M 322
7090-00 Lock nut for 7090 322
7092 G M x G M Blank 322
7201 GM X GFS 90T 322
7202 GFXGFo0T 322

7203
7204
7205
7206
7209
7210
7301
7303
7304
7305

7401
7402
7403
7404
7406
7411
7413
7414

7452
7457
7431
7432
7434
7446

7501
7501-10
7502
7503
7503-02
7503-50
7504
7505
7506
7510
7510-01
7515

7C14 721
7C14 810
7C14 811
7C14 723
7C14 826
7C14 830
7C14 831
7C14 847
7C14 812
7C14 824
3C14 748
3C14 749

ELBOW ADAPTORS

G M X G FS 90T, forged

G M X G M 90T, adjustable
GM X G FS 90B

G FS X G FS 90B

G F X G M 90T, forged
GMXRMO90T
GMXGFS 45T

G M X G FS 45T, forged

G M X G M 45T, adjustable
GMXGFS 45B

T-ADAPTORS

GMXGMXGMT
GFSXGFSXGFST
GMXGMXGFST
GFSXGMXGML
GFXFXFT
GMXGMXRMT
GMXGMXG MT, adjustable
GMXGMXG M L, adjustable

ADAPTORS NPT-THREAD

NPT M X NPT M

NPT F X NPT F

NPT M X NPT F 90 T, forged
NPT F X NPT F 90 T, forged

NPT M X NPT M 90 T, forged
NPTFXFxFT

PLUGS

G M plug

R M Plug

G FS plug

G M ED inset plug
G M magnet plug
UNF inset plug

M M inset plug
NPT M plug

G F cover

ROV-L

ROV-S

UNF inset plug

PLUG-IN FITTINGS

Plug-in

Female M G-thread
Plug female

Plug male

Female M SAE-O
Female M G-thread
Female M M-thread
Packing kit female
Plug-in kit

Female M JIC
Plug-in release ring
Plug-in assembly stop

PRODUCT CATALOGUE

PAGE

323
323
323
323
323
323
323
324
324
324

PAGE

324
324
324
324
324
325
325
325

PAGE

325
325
325
325
325
326

PAGE

326
326
326
326
326
326
326
327
327
327
327
327

PAGE

327
327
327
328
328
328
328
328
328
328
328
328




CHAPTER 7 ADAPTORS

7002
GMXGM

60° cone sealing

PRODUCT GROUP 700

72
misin

7003
GMXGM

Flat face sealing

PRODUCT GROUP 700

Part number

7002-02-02
7002-02-04
7002-02-06
7002-02-08
7002-04-04
7002-04-06
7002-04-08
7002-04-12
7002-06-06
7002-06-08
7002-06-10
7002-06-12
7002-06-16
7002-08-08
7002-08-10
7002-08-12
7002-08-16
7002-08-20
7002-10-10
7002-10-12
7002-12-12
7002-12-16
7002-12-20
7002-16-16
7002-16-20
7002-16-24
7002-16-32
7002-20-20
7002-20-24
7002-20-32
7002-24-24
7002-24-32
7002-32-32
7002-32-40
7002-32-48

Thread 1

G 1/8"
G 1/8"
G 1/8"
G 1/8"
G 1/4"
G 1/4"
G 1/4"
G 1/4"
G 3/8"
G 3/8"
G 3/8"
G 3/8"
G 3/8"
G 1/2"
G 1/2"
G 1/2"
G 1/2"
G 1/2"
G 5/8"
G 5/8"
G 3/4"
G 3/4"
G 3/4"
G1"
G1"
G1"
G1"
G11/4"
G11/4"
G11/4"
G11/2"
G11/2"
G2"M
G2"M
G2"M

TR EEEEEREREERERRE

(@&  PRODUCT CATALOGUE

Thread 2

1/8"
1/4"
3/8"
1/2"
1/4"
3/8"
1/2"
3/4"
3/8"
1/2"
5/8"
3/4"
G1"
1/2"
G 5/8"
G 3/4"
G1"
1/4"

OO0 00O

(9]

TXERXREREEREXRXRXRERERERRERRERREREERRERIREERERREEERERRRE

Part number Thread 1 Thread 2
7003-08-08 G1/2"M G 1/2"M
7003-12-12 G 3/4"M G 3/4"M
7005
GMXGF

60° cone sealing

PRODUCT GROUP 700

Part number

7005-02-02
7005-02-04
7005-04-02
7005-04-04
7005-04-06
7005-06-04
7005-06-06
7005-06-08
7005-08-06
7005-08-08
7005-08-10
7005-08-12
7005-10-08
7005-10-10
7005-10-12
7005-12-08
7005-12-12
7005-12-16
7005-16-12
7005-16-16
7005-16-20
7005-16-32
7005-20-16
7005-20-20
7005-20-24
7005-20-32
7005-24-20
7005-24-24
7005-24-32
7005-32-24

Thread 1

9]

OOOOOOOOOOOOOOOO O

G1
G1
G1
G1
G1
G1
G1

1/8" M
1/8" M
1/4" M
1/4" M
1/4" M
3/8"M
3/8" M
3/8" M
1/2" M
1/2" M
1/2" M
1/2" M
5/8" M
5/8" M
5/8" M
3/4" M
3/4" M
3/4" M
G1"M
G1"M
G1"M
G1"M
1/4" M
1/4" M
1/4" M
1/4" M
1/2" M
1/2" M
1/2" M
G2"M

Thread 2

G 1/8"
G 1/4"
G 1/8"
G 1/4"
G 3/8"
G 1/4"
G 3/8"
G 1/2"
G 3/8"
G 1/2"
G 5/8"
G 3/4"
G 1/2"
G 5/8"
G 3/4"
G 1/2"
G 3/4"
G1"

G 3/4"
G1"
G11/4"
G2”
G1"
G11/4"
G11/2"
G2"
G11/4"
G11/2"
G2"
G11/2"

B e e e e e e e e e e e e e e e e e e e e e e e e e e A B 3 |




CHAPTER 7 ADAPTORS

, 7007

PRODUCT GROUP 700

Part number Thread 1 Thread 2 Part number Thread 1 Thread 2

7009*
GMXGF long

PRODUCT GROUP 700

7007-02-02 G 1/8" FS G 1/8" FS 7009-02-04 G 1/8" M G 1/4" F
7007-02-04 G 1/8" FS G 1/4" FS 7009-02-06 G 1/8" M G 3/8" F
7007-04-04 G 1/4" FS G 1/4" FS 7009-04-02 G 1/4" M G 1/8" F
7007-04-06 G 1/4" FS G 3/8" FS 7009-04-06 G 1/4" M G 3/8"F
7007-04-08 G 1/4" FS G 1/2" FS 7009-04-08 G 1/4" M G 1/2" F
7007-06-06 G 3/8" FS G 3/8" FS 7009-04-12 G 1/4" M G 3/4" F
7007-06-08 G 3/8" FS G 1/2" FS 7009-06-04 G 3/8"M G 1/4" F
7007-08-08 G 1/2" FS G 1/2" FS 7009-06-08 G 3/8"M G 1/2" F
7007-08-10 G 1/2" FS G 5/8" FS 7009-06-12 G 3/8"M G 3/4" F
7007-08-12 G 1/2" FS G 3/4" FS 7009-08-06 G 1/2" M G 3/8"F
7007-10-10 G 5/8" FS G 5/8" FS 7009-08-12 G 1/2" M G 3/4" F
7007-10-12 G 5/8" FS G 3/4" FS 7009-08-16 G 1/2" M G 1"F
7007-12-12 G 3/4" FS G 3/4" FS 7009-08-20 G 1/2" M G 11/4"F
7007-12-16 G 3/4" FS G 1" FS 7009-12-08 G 3/4"M G 1/2" F
7007-16-16 G 1" FS G 1" FS 7009-12-16 G 3/4"M G 1"F
7007-20-20 G 11/4"FS G 11/4"FS 7009-12-20 G 3/4"M G 11/4"F
7007-24-24 G 11/2"FS G 11/2"FS 7009-12-24 G 3/4"M G 11/2"F
7007-32-32 G 2" FS G 2" FS 7009-16-12 G 1”M G 3/4" F
7009-16-20 G 1”M G 11/4"F
7009-16-24 G 1" M G 11/2"F
7008 7009-20-16 G 11/4"M G 1"F
M GMXGFS 7009-20-24 G 11/4"M G 11/2"F
H _ 7009-24-20 G 11/2"M G 11/4"F
— H&E PRODUCT GROUP 700 *Available in a improved version with ED seal, see 7018.
Part number  Thread 1 Thread 2 W_% 7010*
7008-02-02 G 1/8'M G 1/8"FS 1 G MXG F short
7008-02-04 G 1/8" M G 1/4" FS |
7008-04-02 G 1/4" M G 1/8" FS L] M
7008-04-04 G 1/4" M G 1/4" FS PRODUCT GROUP 700
7008-04-06 G 1/4" M G 3/8" FS
7008-04-08 G 1/4" M G 1/2" FS
7008-06-04 G 3/8'M G 1/4"FS Part number Thread 1 Thread 2
7008-06-06 G 3/8" M G 3/8" FS 7010-06-02 G 3/8"M G 1/8" F
7008-06-08 G 3/8"M G 1/2" FS 7010-08-02 G 1/2" M G 1/8" F
7008-06-10 G 3/8"M G 5/8"FS 7010-08-04 G 1/2" M G 1/4" F
7008-08-04 G 1/2" M G 1/4" FS 7010-12-04 G 3/4"M G 1/4" F
7008-08-06 G 1/2" M G 3/8" FS 7010-12-06 G 3/4" M G 3/8"F
7008-08-08 G 1/2" M G 1/2" FS 7010-12-08 G 3/4"M G 1/2" F
7008-08-10 G 1/2" M G 5/8" FS 7010-16-04 G 1" M G 1/4" F
7008-08-12 G 1/2" M G 3/4" FS 7010-16-06 G 1”M G 3/8"F
7008-10-08 G 5/8"M G 1/2" FS 7010-16-08 G 1”M G 1/2" F
7008-10-10 G 5/8" M G 5/8" FS 7010-20-08 G 11/4"M G 1/2" F
7008-10-12 G 5/8"M G 3/4" FS 7010-20-12 G 11/4"M G 3/4" F
7008-12-06 G 3/4"M G 3/8" FS 7010-24-08 G 11/2"M G 1/2" F
7008-12-08 G 3/4" M G 1/2" FS 7010-24-12 G 11/2"M G 3/4" F
7008-12-10 G 3/4" M G 5/8" FS 7010-24-16 G 11/2"M G 1"F
7008-12-12 G 3/4"M G 3/4" FS 7010-32-08 G 2" M G 1/2" F
7008-12-16 G 3/4" M G 1" FS 7010-32-20 G 2" M G 11/4"F
7008-16-08 G 1"M G 1/2" FS
7008-16-12 G 1" M G 3/4" FS *Available in a improved version with ED seal, see 7017
7008-16-16 G 1"M G 1" FS
7008-16-20 G 1"M G 11/4"FS
7008-20-16 G 11/4"M G 1" FS
7008-20-20 G 11/4"M G 11/4"FS
7008-20-24 G 11/4"M G 11/2"FS
7008-24-20 G 11/2"M G 11/4"FS
7008-24-24 G 11/2"M G 11/2"FS
7008-24-32 G 11/2"M G 2" FS
7008-32-32 G 2" M G 2" FS

PRODUCT CATALOGUE @




CHAPTER 7 ADAPTORS

7013
GMXJICM

7011

PRODUCT GROUP 700

Part number Thread 1 Thread 2 Part number Thread 1 Thread 2

PRODUCT GROUP 700

7011-02-02 G  1/8"F G 1/8"F 7013-02-07 G 1/8"M JIC  7/16"M
7011-02-04 G  1/8"F G 1/4"F 7013-02-08 G 1/8"M JIC 1/2" M
7011-02-06 G  1/8"F G 3/8"F 7013-04-06 G 1/4"M JIC 3/8" M
7011-04-04 G  1/4"F G 1/4"F 7013-04-07 G 1/4"M JIC  7/16"M
7011-04-06 G  1/4"F G 3/8"F 7013-04-08 G 1/4"M JIC 1/2"M
7011-04-08 G  1/4"F G 1/2"F 7013-04-09 G 1/4"M JIC  9/16"M
7011-06-06 G  3/8"F G 3/8"F 7013-04-12 G 1/4"M JIC 3/4" M
7011-06-08 G  3/8"F G 1/2"F 7013-04-14 G 1/4"M JIC 7/8" M
7011-06-12 G  3/8"F G 3/4"F 7013-06-07 G 3/8"M JIC  7/16"M
7011-08-08 G  1/2"F G 1/2"F 7013-06-08 G 3/8"M JIC 1/2"M
7011-08-10 G  1/2"F G 5/8"F 7013-06-09 G 3/8"M JIC  9/16"M
7011-08-12 G 1/2"F G 3/4"F 7013-06-12 G 3/8"M JIC 3/4" M
7011-08-16 G  1/2"F G 1"F 7013-06-14 G 3/8"M JIC 7/8" M
7011-10-10 G  5/8"F G 5/8"F 7013-08-07 G 1/2"M JIC  7/16"M
7011-10-12 G 5/8"F G 3/4"F 7013-08-08 G 1/2"M JIC 1/2" M
7011-12-12 G 3/4"F G 3/4"F 7013-08-09 G 1/2"M JIC  9/16"M
7011-12-16 G 3/4"F G 1"F 7013-08-12 G 1/2"M JIC 3/4" M
7011-16-16 G 1"F G 1"F 7013-08-14 G 1/2"M JIC 7/8"M
7011-16-20 G 1"F G 11/4"F 7013-08-17 G 1/2"M JIC 11/16"M
7011-20-20 G 11/4"F G 11/4"F 7013-08-19 G 1/2"M JIC 13/16"M
7011-20-24 G 11/4"F G 11/2"F 7013-08-21 G 1/2"M JIC 15/16”"M
7011-24-24 G 11/2"F G 11/2"F 7013-10-12 G 5/8"M JIC 3/4" M
7011-24-32 G 11/2"F G 2"F 7013-10-14 G 5/8"M JIC 7/8" M
7011-32-32 G 2"F G 2"F 7013-10-17 G 5/8"M JIC 11/16"M
7013-10-21 G 5/8"M JIC 15/16"M
7013-12-09 G 3/4"M JIC  9/16"M
% 7012 7013-12-12 G 3/4"M JIC 3/4" M
GMXRM 7013-12-14 G 3/4"M JIC 7/8" M
| I 7013-12-17 G 3/4"M JIC 11/16"M
H 7013-12-19 G 3/4"M JIC 13/16"M
h > PRODUCT GROUP 700 7013-12-21 G 3/4"M JIC 15/16"M
7013-16-14 G 1"M JIC 7/8" M
7013-16-17 G 1"M JIC 11/16"M
7012-02-02 G 1/8" M R 1/8" M 7013-16-21 G 1 M Jic 1 5/16: M
7012-02-04 G 1/8" M R 1/a" M 7013-16-26 G 1" M Jjc 1 5/8” M
7012-04-02 G 1/a" M R 1/8" M 7013-16-30 G 1" M Jjc 1 7/8" M
7012-04-04 G 1/a" M R 174" M 7013-20-26 G 1 1/4" M Jjc 1 5/8" M
7012-04-06 G 1/a" M R 3/8" M 7013-24-26 G 1 1/2" M Jc 1 5/8" M
7012-04-08 G 1/a" M R 172" M 7013-24-30 G 1 1/2" M Jjc 1 7/8" M
7012-06-04 G 3/8" M R 174" M 7013-32-40 G 2"M JIC 21/2"M
7012-06-06 G 3/8" M R 3/8" M
7012-06-08 G 3/8" M R 1/2" M
7012-06-12 G 3/8"M R 3/4"M
7012-08-06 G 1/2"M R 3/8" M 7
7012-08-08 G 1/2"M R 1/2" M
7012-08-10 G 1/2" M R 5/8"M
7012-08-12 G 1/2"M R 3/4" M
7012-10-10 G 5/8" M R 5/8" M
7012-10-12 G 5/8” M R 3/4" M
7012-12-04 G 3/4" M R 1/4" M
7012-12-06 G 3/4" M R 3/8" M
7012-12-08 G 3/4" M R 1/2" M
7012-12-12 G 3/4" M R 3/4" M
7012-12-16 G 3/4" M R 1"M
7012-16-12 G 1"M R 3/4"M
7012-16-16 G 1"M R 1"M
7012-16-20 G 1"M R 11/4"M
7012-20-12 G 11/4"M R 3/4"M
7012-20-20 G 11/4"M R 11/4"M
7012-24-24 G 11/2"M R 11/2"M
7012-32-32 G 2"M R 2"M

(@&  PRODUCT CATALOGUE




CHAPTER 7 ADAPTORS

7015
GMXSAEOM

PRODUCT GROUP 700

7018
GMEDXG F long

PRODUCT GROUP 700

Part number Thread 1 Thread 2
7018-02-04 G 1/8" M ED G 1/4" F
7018-02-06 G 1/8" M ED G 3/8" F
7018-04-02 G 1/4" M ED G 1/8" F
7018-04-06 G 1/4" M ED G 3/8"F
7018-04-08 G 1/4" M ED G 1/2" F
7018-04-12 G 1/4" M ED G 3/4" F
7018-06-04 G 3/8" M ED G 1/4" F
7018-06-08 G 3/8" M ED G 1/2" F
7018-06-12 G 3/8" M ED G 3/4" F
7018-08-06 G 1/2" M ED G 3/8"F
7018-08-12 G 1/2" M ED G 3/4" F
7018-08-16 G 1/2" M ED G 1"F
7018-08-20 G 1/2" M ED G 11/4"F
7018-12-08 G 3/4" M ED G 1/2" F
7018-12-16 G 3/4" M ED G 1"F
7018-12-20 G 3/4" M ED G 11/4"F
7018-12-24 G 3/4" M ED G 11/2"F
7018-16-12 G 1" M ED G 3/4" F
7018-16-20 G 1" M ED G 11/4"F
7018-16-24 G 1"M ED G 11/2"F
7018-20-16 G 11/4"MED G 1"F
7018-20-24 G 11/4"MED G 11/2"F
7018-24-20 G 11/2"MED G 11/4"F
7019

GMXMM

PRODUCT GROUP 700

Part number Thread 1 Thread 2
7015-04-07 G 1/4" M SAE 7/16"
7015-04-08 G 1/4" M SAE 1/2"
7015-04-09 G 1/4" M SAE 9/16"
7015-04-12 G 1/4" M SAE 3/4"
7015-06-09 G 3/8"M SAE 9/16"
7015-06-12 G 3/8"M SAE 3/4"
7015-06-14 G 3/8"M SAE 7/8"
7015-08-12 G 1/2" M SAE 3/4"
7015-08-14 G 1/2"M SAE 7/8"
7015-08-17 G 1/2" M SAE 11/16"
7015-08-21 G 1/2" M SAE 15/16"
7015-10-14 G 5/8" M SAE 7/8"
7015-10-17 G 5/8" M SAE 11/16"
7015-12-17 G 3/4"M SAE 11/16"
7015-12-19 G 3/4" M SAE 13/16"
7015-12-21 G 3/4" M SAE 15/16"
7015-16-19 G 1"M SAE 13/16"
7015-16-21 G 1"M SAE 15/16"
7015-16-26 G 1"M SAE 15/8"
7015-20-26 G 11/4"M SAE 15/8”
7016
GMXJICFS
1 2 PRODUCT GROUP 700
Part number Thread 1 Thread 2
7016-04-09 G 1/4"M JIC 9/16" FS
7016-06-12 G 3/8"M JIC 3/4" FS
7016-08-12 G 1/2"M JIC 3/4" FS
7016-08-14 G 1/2"M JIC 7/8" FS
7016-12-21 G 3/4"M JIC 1 5/16" FS
7016-16-21 G 1"M JIC 1 5/16" FS
7017
| G MED XG F short
1 2 PRODUCT GROUP 700
Part number Thread 1 Thread 2
7017-06-02 G 3/8" M ED G 1/8" F
7017-08-02 G 1/2" M ED G 1/8" F
7017-08-04 G 1/2" M ED G 1/4" F
7017-12-04 G 3/4" M ED G 1/4" F
7017-12-06 G 3/4" M ED G 3/8"F
7017-16-04 G 1" M ED G 1/4" F
7017-16-06 G 1" M ED G 3/8"F
7017-16-08 G 1" M ED G 1/2"F
7017-20-08 G 11/4"MED G 1/2"F
7017-20-12 G 11/4"MED G 3/4" F
7017-24-08 G 11/2"MED G 1/2" F
7017-24-12 G 11/2"MED G 3/4" F
7017-24-16 G 11/2"MED G 1"F

Part number

7019-02-10
7019-02-12
7019-04-10
7019-04-12
7019-04-14
7019-04-16
7019-04-18
7019-06-12
7019-06-14
7019-06-16
7019-06-18
7019-06-20
7019-06-22
7019-08-16
7019-08-18
7019-08-20
7019-08-22
7019-08-26
7019-08-27
7019-10-26
7019-12-16
7019-12-18
7019-12-22
7019-12-26
7019-12-27
7019-12-30
7019-16-22
7019-16-33
7019-16-36
7019-20-52

DOOOOOOOLOOOOOOOLOOOLOOOLOOOOOOO OO

Thread 1 Thread 2
1/8" M M 10x1,0M
1/8" M M 12x1,5M
1/4" M M 10x1,0M
1/4" M M 12x1,5M
1/4" M M 14x1,5M
1/4" M M 16x1,5M
1/4" M M 18x1,5M
3/8"M M 12x1,5M
3/8" M M 14x1,5M
3/8"M M 16x1,5M
3/8"M M 18x1,5M
3/8" M M 20x1,5M
3/8"M M 22x1,5M
1/2" M M 16x1,5M
1/2" M M 18x1,5M
1/2" M M 20x1,5M
1/2" M M 22x1,5M
1/2" M M 26 x1,5M
1/2" M M 27x1,5M
5/8" M M 26x1,5M
3/4" M M 16x1,5M
3/4" M M 18x1,5M
3/4" M M 22x1,5M
3/4" M M 26 x1,5M
3/4"M M 27x1,5M
3/4" M M 30x1,5M

1"M M 22x1,5M
1"M M 33x2,0M
1" M M 36x2,0M
11/4"M M 52x1,5M

PRODUCT CATALOGUE @




CHAPTER 7 ADAPTORS

7022
GMXNPTM

i

PRODUCT GROUP 700

7070
MMXMM

I PRODUCT GROUP 700

Part number Thread 1 Thread 2
7022-02-02 G 1/8"M 1/8"-27 NPT M
7022-04-02 G 1/4" M 1/8"-27 NPT M
7022-04-04 G 1/4" M 1/4"-18 NPT M
7022-04-06 G 1/4"M 3/8"-18 NPT M
7022-04-08 G  1/4"M 1/2"-14 NPT M
7022-06-04 G 3/8" M 1/4"-18 NPT M
7022-06-06 G 3/8" M 3/8"-18 NPT M
7022-06-08 G 3/8"M 1/2"-14 NPT M
7022-06-12 G 3/8" M 3/4"-14 NPT M
7022-08-06 G 1/2" M 3/8"-18 NPT M
7022-08-08 G 1/2" M 1/2"-14 NPT M
7022-08-12 G 1/2" M 3/4"-14 NPT M
7022-08-16 G 1/2"M 1"-11% NPT M
7022-10-08 G 5/8" M 1/2"-14 NPT M
7022-12-04 G 3/4" M 1/4"-18 NPT M
7022-12-06 G  3/4"M 3/8"-18 NPT M
7022-12-08 G 3/4"M 1/2"-14 NPT M
7022-12-12 G 3/4" M 3/4"-14 NPT M
7022-12-16 G  3/4"M 1"-11% NPT M
7022-16-08 G 1"M 1/2"-14 NPT M
7022-16-12 G 1"M 3/4"-14 NPT M
7022-16-16 G 1"M 1"-11% NPT M
7022-16-20 G 1"M 11/4"-11% NPT M
7022-16-24 G 1"M 11/2"-11% NPT M
7022-20-20 G 11/4"M 11/4"-11% NPT M
7022-24-16 G 11/2"M 1"-11% NPT M
7022-24-24 G 11/2"M 11/2"-11% NPT M
7022-32-24 G 2"M 11/2"-11% NPT M
7022-32-32 G 2"M 2"-11% NPT M
7023
[ ‘ RMXRM

PRODUCT GROUP 700

Part number Thread 1 Thread 2

7023-04-04 R 1/4"M R 1/4"M

7023-04-08 R 1/4"M R 1/2"M

7023-06-06 R 3/8"M R 3/8"M

7023-08-08 R 1/2"M R 1/2"M

7023-16-16 R 1"M R1"M
S5/ 7027
| G FSX NPTM

H/QQ_J: PRODUCT GROUP 700

Part number Thread 1 Thread 2

7027-02-04 G 1/8"FS 1/4"-18 NPT M
7027-04-02 G 1/4"FS 1/8"-27 NPT M
7027-04-04 G 1/4"FS 1/4"-18 NPT M
7027-06-06 G 3/8"FS 3/8"-18 NPT M
7027-08-08 G 1/2"FS 1/2"-14 NPT M

PRODUCT CATALOGUE

7070-10-10 M 10x 1,0 M M10x 1,0 M
7070-10-12 M 10x1,0M M12x 1,5M
7070-12-12 M 12x1,5M M12x 1,5M
7070-12-14 M 12x1,5M M 14 x 1,5 M
7070-12-16 M 12x1,5M M 16 x 1,5 M
7070-14-14 M 14x1,5M M 14 x 1,5 M
7070-14-16 M 14x1,5M M16x1,5M
7070-14-18 M 14x1,5M M 18 x 1,5 M
7070-16-16 M 16x1,5M M 16 x 1,5 M
7070-16-18 M 16x1,5M M18x1,5M
7070-16-22 M 16x1,5M M22x1,5M
7070-18-18 M 18x1,5M M 18 x 1,5 M
7070-18-20 M 18 x1,5M M20x1,5M
7070-18-22 M 18x1,5M M22x1,5M
7070-18-26 M 18x1,5M M 26 x 1,5 M
7070-22-22 M22x1,5M M22x1,5M
7070-22-30 M22x1,5M M 30 x 1,5 M
7070-26-26 M 26x 1,5M M 26 x 1,5 M
7070-30-30 M30x1,5M M30x1,5M

7071

Special adaptor for

high pressure washer

Max WP 25,0 MPa, max temp. 150° C,
max flow 40 |/min.

PRODUCT GROUP 700

Part number Thread 1 Thread 2
7071-22-04 M 22x1,5FS G 1/4"M
7071-22-06 M22x1,5FS G 3/8"M
7072

&K Special adaptor for
high pressure washer

— Max WP 25,0 MPa, max temp. 150° C,

max flow 40 l/min.

1 2 PRODUCT GROUP 700

Part number Thread 1 Thread 2
7072-22-04 M22x1,5FS G 1/4"F
7072-22-06 M22x1,5FS G3/8"F
7073

Special adaptor for

high pressure washer
Max WP 25,0 MPa, max temp. 150° C,
max flow 40 |/min.

I —

1 2 PRODUCT GROUP 700
Part number Thread 1 Thread 2
7073-22-04 M22x1,5M G 1/4"F
7073-22-06 M22x1,5M G 3/8"F

— 7074

’ | Special adaptor for

- high pressure washer
- Max WP 25,0 MPa, max temp. 150° C,
v max flow 40 /min.
PRODUCT GROUP 700

Thread 2
M22x1,5M

Part number Thread 1

7074-22-22 M22x1,5M




CHAPTER 7 ADAPTORS

1

7075

Special adaptor for

high pressure washer
Max WP 25,0 MPa, max temp. 150° C,

max flow 40 /min.
PRODUCT GROUP 700

7090-00

Lock nut
For bulkhead

PRODUCT GROUP 700

Thread 2

Part number Thread 1

7075-22-04 M22x1,5M G 1/4" M
7075-22-06 M 22x1,5M G3/8"M
7081
é; @ Banjo G M

|

PRODUCT GROUP 700

Part number Type For bolt Thread
7081-04-04  Banjo G 1/4" G1/4"M
7081-06-04 Banjo G 3/8" G 1/4"M
7081-06-06  Banjo G 3/8" G3/8"M
7081-08-06  Banjo G 1/2" G3/8"M
7081-08-08 Banjo G 1/2" G1/2"M
7081-12-08  Banjo G 3/4" G1/2"M
7081-12-12  Banjo G 3/4" G3/4"M
7081-16-16  Banjo G 1” G1"M
7082

g? @ Banjo M M

| R
\_ | |

! PRODUCT GROUP 700
Part number Type For bolt Thread
7082-14-14  Banjo M14 M14x1,5 M
7082-18-18  Banjo M18 M18x1,5 M
- 7090

Bulkhead

T GMXGM

1 2 PRODUCT GROUP 700
Part number Thread 1 Type Thread 2
7090-02-02 G  1/8”"M  Bulkhead G 1/8"M
7090-04-04 G 1/4"M  Bulkhead G 1/4"M
7090-04-06 G 1/4"M  Bulkhead G 3/8"M
7090-06-06 G  3/8"M  Bulkhead G 3/8"M
7090-08-06 G 1/2"M  Bulkhead G 3/8"M
7090-08-08 G  1/2"M  Bulkhead G 1/2"M
7090-10-10 G 5/8"M  Bulkhead G 5/8"M
7090-12-12 G 3/4"M  Bulkhead G 3/4"M
7090-16-12 G 1”M  Bulkhead G 3/4"M
7090-16-16 G 1"M  Bulkhead G 1"M
7090-20-20 G 11/4"M  Bulkhead G 11/4"M
7090-24-24 G 11/2"M  Bulkhead G 11/2"M
7090-32-32 G 2"M  Bulkhead G 2"M

Part number To Type Thread
7090-00-02  7090-02-02 Lock nut G 1/8”
7090-00-04 7090-04-04 Lock nut G 1/4"
7090-00-06  7090-06-06 Lock nut G 3/8"
7090-00-08 7090-08-08 Lock nut G 1/2"
7090-00-10 7090-10-10 Lock nut G 5/8"
7090-00-12 7090-12-12 Lock nut G 3/4"
7090-00-16  7090-16-16 Lock nut G 1"
7090-00-20 7090-20-20 Lock nut G 11/4"
7090-00-24  7090-24-24 Lock nut G 11/2"
7092

G M x G M Blank

r _ Own drilling

PRODUCT GROUP 700

Part number Thread 1 Thread 2
7092-02-02 G 1/8" M G 1/8" M blank
7092-04-04 G 1/4" M G 1/4" M blank
7092-04-06 G 1/4" M G 3/8" M blank
7092-06-06 G 3/8"M G 3/8" M blank
7092-06-08 G 3/8" M G 1/2" M blank
7092-08-08 G 1/2" M G 1/2" M blank
7092-08-12 G 1/2" M G 3/4" M blank
7092-12-12 G 3/4" M G 3/4" M blank
7201

GMXGFS 90T

PRODUCT GROUP 700
Part number Thread 1 Type Thread 2
7201-02-02 G 1/8" M 90T G 1/8"FS
7201-04-04 G 1/4"M QT G 1/4"FS
7201-06-06 G 3/8" M 90T G 3/8"FS
7201-08-08 G 1/2" M 90T G 1/2"FS
7201-10-10 G 5/8"M 90T G 5/8”"FS
7201-12-12 G 3/4" M 90T G 3/4"FS
7201-16-16 G 1"M 90T G 1" FS
7201-20-20 G 11/4"M QT G 11/4"FS
7201-24-24 G 11/2"M 90T G 11/2"FS
7201-32-32 G 2"M 90T G 2" FS
7202

GFXGFoa0T

PRODUCT GROUP 700
Part number Thread 1 Type Thread 2
7202-02-02 G 1/8" F 0T G 1/8"F
7202-04-04 G 1/4" F 90T G 1/4" F
7202-06-06 G 3/8"F 90T G 3/8"F
7202-08-08 G 1/2" F 90T G 1/2" F
7202-12-12 G 3/4" F 90T G 3/4" F
7202-16-16 G 1"F 90T G 1"F
7202-32-32 G 2" F QT G 2"F

PRODUCT CATALOGUE

(]




7203

GMXGFS 90T
Forged

PRODUCT GROUP 700

CHAPTER 7 ADAPTORS

7206
G FS X G FS 90B

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7203-02-02 G 1/8" M o0 T G 1/8"FS
7203-04-04 G 1/4" M 90T G 1/4"FS
7203-06-06 G 3/8" M 90T G 3/8"FS
7203-08-08 G 1/2" M 90T G 1/2"FS
7203-10-10 G 5/8"M 90T G 5/8"FS
7203-12-12 G 3/4" M 90T G 3/4"FS
7203-16-16 G 1"M Q0T G 1" FS
7203-20-20 G 11/4"M 90T G 11/4"FS
7203-24-24 G 11/2"M 90T G 11/2"FS
7203-32-32 G 2" M o0 T G 2" FS
7204
GMXGMOIOT
Adjustable

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7206-04-04 G 1/4"FS 90B G 1/4"FS
7206-06-06 G 3/8"FS 90B G 3/8"FS
7206-08-08 G 1/2"FS 90B G 1/2"FS
7206-12-12 G 3/4"FS 90B G 3/4"FS
7206-16-16 G 1" FS 90B G 1" FS
7206-20-20 G 11/4"FS 90B G 11/4"FS
7206-24-24 G 11/2"FS 90B G 11/2"FS

7209

GFXGMOI0T

Forged

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7209-02-02 G 1/8"F 90T G 1/8"M

7210

GMXRMOIOT

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7204-02-02 G 1/8" M 90 T Adjustable G 1/8”" M ADJ
7204-04-04 G 1/4" M 90 T Adjustable G 1/4" M ADJ
7204-06-04 G 3/8"M 90 T Adjustable G 1/4”" M ADJ
7204-06-06 G 3/8"M 90 T Adjustable G 3/8" M ADJ
7204-06-08 G 3/8"M 90 T Adjustable G 1/2”" M ADJ
7204-08-06 G 1/2" M 90 T Adjustable G 3/8” M ADJ
7204-08-08 G 1/2" M 90 T Adjustable G 1/2" M ADJ
7204-08-12 G 1/2" M 90 T Adjustable G 3/4” M ADJ
7204-12-08 G 3/4"M 90 T Adjustable G 1/2”" M ADJ
7204-12-12 G 3/4"M 90 T Adjustable G 3/4" M ADJ
7204-16-12 G 1" M 90 T Adjustable G 3/4” M ADJ
7204-16-16 G 1" M 90 T Adjustable G 1" M ADJ]
7204-20-20 G 11/4"M 90 T Adjustable G 1 1/4" M ADJ
7204-32-32 G 2" M 90 T Adjustable G 2" M ADJ

7205

GMXGFS90B

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7205-02-02 G 1/8" M 90B G 1/8"FS
7205-04-04 G 1/4" M 90B G 1/4"FS
7205-06-06 G 3/8"M 90B G 3/8"FS
7205-08-08 G 1/2" M 90B G 1/2"FS
7205-12-12 G 3/4"M 90B G 3/4"FS
7205-16-16 G 1"M 90B G 1" FS
7205-20-20 G 11/4"M 90B G 11/4"FS
7205-24-24 G 11/2"M 90B G 11/2"FS
7205-32-32 G 2" M 90B G 2" FS

PRODUCT CATALOGUE

Part number Thread 1 Type Thread 2
7210-02-02 G 1/8" M 90T R 1/8" M
7210-04-04 G 1/4"M 90T R 1/4"M
7210-06-06 G 3/8" M 90T R 3/8"M
7210-06-08 G 3/8"M 90T R 1/2" M
7210-08-08 G 1/2"M 90T R 1/2"M
7210-12-12 G 3/4" M 90T R 3/4"M
7210-16-16 G 1"M 90T R 1"M

7301

GMXGFS 45T

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7301-04-04 G 1/4"M 45T G 1/4"FS
7301-06-06 G 3/8"M 45T G 3/8"FS
7301-08-08 G 1/2"M 45T G 1/2"FS
7301-12-12 G 3/4"M 45T G 3/4"FS
7301-16-16 G 1" M 45T G 1" FS
7301-20-20 G 11/4"M 45T G 11/4"FS




CHAPTER 7 ADAPTORS

7303

GMXGFS 45T
Forged

PRODUCT GROUP 700

’ 2222

7402
GFSXGFSXGFST

PRODUCT GROUP 700

Part number Thread 1 Thread 2 Thread 3
7402-04-04 G 1/4"FS G 1/4"FS G 1/4"FS
7402-06-06 G 3/8"FS G 3/8"FS G 3/8"FS
7402-08-08 G 1/2"FS G 1/2"FS G 1/2"FS
7402-12-12 G 3/4"FS G 3/4"FS G 3/4"FS
7402-16-16 G 1" FS G 1" FS G 1" FS
7402-20-20 G 11/4"FS G 11/4"FS G 11/4"FS

7403

,7,,4&,11

GMXGMXGFST

PRODUCT GROUP 700

Part number Thread 1 Thread 2 Thread 3
7403-04-04 G 1/4"M G 1/4"M G 1/4"FS
7403-06-06 G  3/8"M G 3/8"M G 3/8"FS
7403-08-08 G 1/2"M G 1/2"M G 1/2"FS
7403-12-12 G 3/4"M G 3/4"M G 3/4"FS
7403-16-16 G 1"M G 1"M G 1" FS
7403-20-20 G 11/4"M G 11/4"M G 11/4"FS
7403-24-24 G 11/2"M G 11/2"M G 11/2"FS

7404

GFSXGMXGML

PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7303-04-04 G 1/4"M 45T G 1/4"FS
7303-06-06 G 3/8"M 45T G 3/8"FS
7303-08-08 G 1/2" M 45T G 1/2"FS
7303-10-10 G 5/8" M 45T G 5/8"FS
7303-12-12 G 3/4"M 45T G 3/4"FS
7303-16-16 G 1"M 45T G 1" FS
7303-20-20 G 11/4"M 45T G 11/4"FS
7304
GMXGM 45T
Adjustable
PRODUCT GROUP 700
Part number Thread 1 Type Thread 2
7304-02-02 G 1/8" M 45T G 1/8” M ADJ]
7304-04-04 G 1/4"M 45T G 1/4"MADJ
7304-06-04 G 3/8" M 45T G 1/4” M ADJ
7304-06-06 G 3/8" M 45T G 3/8" M ADJ
7304-08-08 G 1/2" M 45T G 1/2" M ADJ
7304-12-12 G 3/4" M 45T G 3/4" M ADJ]
7304-16-16 G 1"M 45T G 1" M AD]
7304-24-24 G 11/2"M 45T G 11/2"MADJ
7305
GMXGFS 45B
PRODUCT GROUP 700
Part number Thread 1 Type Thread 2
7305-04-04 G 1/4" M 45B G 1/4" FS
7305-06-06 G 3/8"M 45B G 3/8" FS
7305-08-08 G 1/2" M 45B G 1/2" FS
7305-10-10 G 5/8"M 45B G 5/8" FS
7305-12-12 G 3/4"M 45B G 3/4"FS
7305-16-16 G 1"M 45B G 1" FS
7305-20-20 G 11/4"M 45B G 11/4"FS
7305-24-24 G 11/2"M 45B G 11/2"FS
7401

]
‘ GMXGMXGMT
PRODUCT GROUP 700
Part number Thread 1 Thread 2 Thread 3
7401-04-04 G 1/4"M G 1/4"M G 1/4"M
7401-04-06 G 1/4" M G 1/4" M G 3/8" M
7401-06-04 G 3/8"M G 3/8"M G 1/4" M
7401-06-06 G 3/8" M G 3/8" M G 3/8" M
7401-06-08 G 3/8"M G 3/8"M G 1/2" M
7401-08-04 G 1/2"M G 1/2"M G 1/4"M
7401-08-08 G 1/2" M G 1/2" M G 1/2" M
7401-10-10 G 5/8" M G 5/8" M G 5/8" M
7401-12-12 G  3/4"M G 3/4"M G 3/4"M
7401-16-12 G 1" M G 1" M G 3/4"M
7401-16-16 G 1"M G 1" M G 1"M
7401-20-20 G 11/4"M G 11/4"M G 11/4"M
7401-24-24 G 11/2"M G 11/2"M G 11/2"M

Part number Thread 1 Thread 2 Thread 3
7404-04-04 G 1/4"FS G 1/4"M G 1/4"M
7404-06-06 G 3/8"FS G 3/8" M G 3/8"M
7404-08-06 G 1/2"FS G 1/2" M G 3/8"M
7404-08-08 G 1/2"FS G 1/2" M G 1/2" M
7404-12-12 G 3/4"FS G 3/4" M G 3/4"M
7404-16-16 G 1" FS G 1"M G 1" M
7404-20-20 G 11/4"FS G 11/4"M G 11/4"M
7404-24-24 G 11/2"FS G 11/2"M G 11/2"M
7406
I | GFXFXFT

|

|
. PRODUCT GROUP 700
Part number Thread 1 Thread 2 Thread 3
7406-02-02 G 1/8" F G 1/8" F G 1/8" F
7406-04-04 G 1/4" F G 1/4" F G 1/4" F
7406-06-06 G 3/8" F G 3/8" F G 3/8" F
7406-08-08 G 1/2" F G 1/2" F G 1/2" F
7406-12-12 G 3/4"F G 3/4" F G 3/4"F
7406-16-16 G 1"F G 1"F G 1"F
7406-20-20 G 11/4"F G 11/4"F G 11/4"F
7406-24-24 G 11/2"F G 11/2"F G 11/2"F
7406-32-32 G 2"F G 2"F G 2" F

PRODUCT CATALOGUE @Eﬂ




CHAPTER 7 ADAPTORS

[aR]
N

7411
GMXGMXRMT

PRODUCT GROUP 700

7457

(previous 7085)
NPT F X NPT F

PRODUCT GROUP 700

-

7457-02-02 NPT 1/8" F NPT 1/8" F
7457-02-04 NPT 1/8" F NPT 1/4" F
7457-04-04 NPT 1/4" F NPT 1/4" F
7457-04-06 NPT 1/4" F NPT 3/8" F
7457-06-06 NPT 3/8" F NPT 3/8" F
7457-08-08 NPT 1/2" F NPT 1/2" F
7457-12-12 NPT 3/4" F NPT 3/4" F
7457-12-16 NPT 3/4" F NPT 1"F
7457-16-16 NPT 1" F NPT 1" F
7457-20-20 NPT 11/4"F NPT 11/4"F
7431

(previous 7282)

NPTMXNPTFO90 T

Forged
PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7431-02-02 NPT 1/8" M 90T NPT 1/8" F
7431-02-04 NPT 1/8" M 90T NPT 1/4" F
7431-04-02 NPT 1/4" M QT NPT 1/8” F
7431-04-04 NPT 1/4" M Q0T NPT 1/4" F
7431-06-04 NPT 3/8" M 90T NPT 1/4" F
7431-06-06 NPT 3/8" M 90T NPT 3/8" F
7431-06-08 NPT 3/8" M 90T NPT 1/2" F
7431-08-06 NPT 1/2" M 90T NPT 3/8" F
7431-08-08 NPT 1/2"M QT NPT 1/2" F
7431-12-08 NPT 3/4" M 90T NPT 1/2" F
7431-12-12 NPT 3/4" M 90T NPT 3/4" F
7431-20-20 NPT 11/4"M QT NPT 1 1/4" F
7432

(previous 7281)

NPTFXNPTFO90T
Forged
PRODUCT GROUP 700

Part number Thread 1 Thread 2 Thread 3
7411-02-02 G 1/8" M G 1/8" M R 1/8" M
7411-04-04 G 1/4" M G 1/4" M R 1/4" M
7411-06-06 G 3/8" M G 3/8"M R 3/8"M
7411-08-08 G 1/2" M G 1/2" M R 1/2" M
7411-12-12 G 3/4"M G 3/4"M R 3/4" M
7411-16-16 G 1"M G 1"M R 1" M
} N 4# 7413

- GMXGMXGMT

Adjustable

PRODUCT GROUP 700
Part number Thread 1 Thread 2 Thread 3
7413-04-04 G 1/4"M G 1/4"M G 1/4"MAD]
7413-06-06 G 3/8"M G 3/8"M G 3/8"MADJ
7413-08-08 G 1/2"M G 1/2"M G 1/2"MAD]
7413-12-12 G 3/4"M G 3/4"M G 3/4"MAD]
7413-16-12 G 1" M G 1" M G 3/4"MADJ
7413-16-16 G 1"M G 1"M G 1" M ADJ
AfHr 7414
s AT GMXGMXGML
Adjustable

PRODUCT GROUP 700
Part number Thread 1 Thread 2 Thread 3
7414-04-04 G 1/4"MAD] G 1/4"M G 1/4"M
7414-06-06 G 3/8"MAD] G 3/8" M G 3/8"M
7414-08-08 G 1/2"MAD]) G 1/2" M G 1/2" M
7414-12-12 G 3/4"MAD] G 3/4"M G 3/4"M
7414-16-16 G 1"MAD] G 1"M G 1"M
7414-20-20 G11/4"MAD)] G 11/4"M G 11/4"M
N\ NS 7452

[ B \ (previous 7087)

E § NPT M X NPT M

1 ) PRODUCT GROUP 700
Part number Thread 1 Thread 2
7452-02-02 NPT  1/8"M NPT  1/8"M
7452-02-04 NPT  1/8"M NPT  1/4"M
7452-04-04 NPT 1/4" M NPT 1/4" M
7452-04-06 NPT  1/4"M NPT  3/8"M
7452-04-08 NPT  1/4"M NPT  1/2"M
7452-06-06 NPT 3/8"M NPT 3/8"M
7452-06-08 NPT  3/8"M NPT  1/2"M
7452-08-08 NPT  1/2"M NPT  1/2"M
7452-08-12 NPT 1/2" M NPT 3/4" M
7452-08-16 NPT  1/2"M NPT 1" M
7452-12-12 NPT  3/4"M NPT  3/4"M
7452-12-16 NPT 3/4" M NPT 1"M
7452-16-16 NPT 1"M NPT 1" M
7452-20-20 NPT 11/4"M NPT 11/4"M
7452-24-24 NPT 11/2"M NPT 11/2"M
7452-32-32 NPT 2" M NPT 2"M

PRODUCT CATALOGUE

Part number Thread 1 Type Thread 2
7432-02-02 NPT  1/8"F 90T NPT 1/8"F
7432-04-04 NPT 1/4" F 90T NPT 1/4"F
7432-06-06 NPT  3/8"F 0T NPT 3/8”F
7432-16-16 NPT 1"F 90T NPT 1"F

7 7434

(previous 7283)

NPTMXNPTMO90T

Forged
PRODUCT GROUP 700

Part number Thread 1 Type Thread 2
7434-02-02 NPT 1/8" M 90T NPT 1/8"M
7434-04-04 NPT  1/4"M 90T NPT 1/4"M
7434-06-06 NPT 3/8"M 90T NPT 3/8”"M
7434-06-08 NPT 3/8"M 90T NPT 1/2"M
7434-08-08 NPT 1/2"M 90T NPT 1/2"M
7434-08-12 NPT  1/2"M 90T NPT 3/4"M
7434-12-12 NPT 3/4" M 90T NPT 3/4"M
7434-12-16 NPT  3/4"M 90T NPT 1"M
7434-16-16 NPT 1"M QT NPT 1"M




CHAPTER 7 ADAPTORS

7446

(previous 7481)
NPTFXFXFT

Forged
PRODUCT GROUP 700

-

7503
G M ED inset plug

PRODUCT GROUP 700

Part number Thread 1 Thread 2 Thread 3

7446-02-02 NPT 1/8"F NPT 1/8"F NPT 1/8"F
7446-04-04 NPT 1/4"F NPT 1/4"F NPT 1/4"F
7446-06-06 NPT 3/8"F NPT 3/8"F NPT 3/8"F
7446-08-08 NPT 1/2"F NPT 1/2"F NPT 1/2"F
7446-12-12 NPT 3/4"F NPT 3/4"F NPT 3/4"F

7501
G M plug

[

—

PRODUCT GROUP 700

Part number Type Thread
7503-00-02 Inset plug G 1/8" M ED
7503-00-04 Inset plug G 1/4" M ED
7503-00-06 Inset plug G 3/8" M ED
7503-00-08 Inset plug G 1/2" M ED
7503-00-12 Inset plug G 3/4" M ED
7503-00-16 Inset plug G 1" M ED
7503-00-20 Inset plug G 11/4"MED
7503-00-24 Inset plug G 11/2"MED
7503-00-32 Inset plug G 2" M ED
7503-02

G M magnet plug

PRODUCT GROUP 700

Part number Type Thread
7501-00-02 Plug G 1/8" M
7501-00-04 Plug G 1/4" M
7501-00-06 Plug G 3/8" M
7501-00-08 Plug G 1/2" M
7501-00-10 Plug G 5/8" M
7501-00-12 Plug G 3/4"M
7501-00-16 Plug G 1"M
7501-00-20 Plug G 11/4"M
7501-00-24 Plug G 11/2"M
7501-00-32 Plug G 2" M
7501-10

R M plug

PRODUCT GROUP 700

Part number Type Thread
7503-02-04 Magnet plug G 1/4" M
7503-02-06  Magnet plug G 3/8"M
7503-02-08 Magnet plug G 1/2" M
7503-02-12  Magnet plug G 3/4"M
7503-02-16  Magnet plug G 1"M

7503-50

UNF inset plug

PRODUCT GROUP 700

Part number Type Thread
7501-10-02 Plug R 1/8"M
7501-10-04 Plug R 1/4"M
7501-10-06 Plug R 3/8"M
7501-10-08 Plug R 1/2"M
7501-10-12 Plug R 3/4"M
7501-10-16 Plug R 1" M
7501-10-20 Plug R 11/4"M
7501-10-24 Plug R 11/2"M
7501-10-32 Plug R 2"M
g 7502

G FS plug

PRODUCT GROUP 700

Part number Type Thread
7503-50-06 Inset plug 3/8"-24 UNF
7503-50-07 Inset plug 7/16"-20 UNF
7503-50-08 Inset plug 1/2"-20 UNF
7503-50-09 Inset plug 9/16"-18 UNF
7503-50-12 Inset plug 3/4"-16 UNF
7503-50-14 Inset plug 7/8"-14 UNF
7503-50-17 Inset plug 11/16"-12 UN
7503-50-19 Inset plug 13/16"-12 UN
7503-50-21 Inset plug 15/16"-12 UN
7503-50-26 Inset plug 15/8"-12 UN

7504

M M inset plug

PRODUCT GROUP 700

Part number Type Thread
7502-00-02 Plug G 1/8" FS
7502-00-04 Plug G 1/4" FS
7502-00-06 Plug G 3/8" FS
7502-00-08 Plug G 1/2" FS
7502-00-10 Plug G 5/8” FS
7502-00-12 Plug G 3/4" FS
7502-00-16 Plug G 1" FS
7502-00-20 Plug G 11/4"FS
7502-00-24 Plug G 11/2"FS
7502-00-32 Plug G 2" FS

Part number Type Thread
7504-00-08 Inset plug M8x1,0M
7504-00-10 Inset plug M10x1,0M
7504-00-12 Inset plug M12x1,5M
7504-00-14 Inset plug M14x1,5M
7504-00-16 Inset plug M16x1,5M
7504-00-18 Inset plug M18x1,5M
7504-00-20 Inset plug M20x1,5M
7504-00-22 Inset plug M22x1,5M
7504-00-24 Inset plug M24x1,5M
7504-00-26 Inset plug M26x1,5M
7504-00-27 Inset plug M27x2,0M
7504-00-33 Inset plug M33x2,0M
7504-00-42 Inset plug M42x2,0M

PRODUCT CATALOGUE @




CHAPTER 7 ADAPTORS

7505
NPT M plug

|

PRODUCT GROUP 700

7515

(Previous 7511-00)

UNF inset plug

H PRODUCT GROUP 700

Part number Type Thread
7505-00-02 Plug 1/8”-27 NPT M
7505-00-04 Plug 1/4"-18 NPT M
7505-00-06 Plug 3/8"-18 NPT M
7505-00-08 Plug 1/2"-14 NPT M
7505-00-12 Plug 3/4"-14 NPT M
7505-00-16 Plug 1”-11% NPT M
7505-00-20 Plug 11/4"-11%2 NPT M
7505-00-24 Plug 11/2"-11%2 NPT M
7505-00-32 Plug 2"-11% NPT M
7506
G F cover

PRODUCT GROUP 700

Part number Type Thread
7515-00-07 Plug 7/16" - 20 UNF
7515-00-09 Plug 9/16"” - 20 UNF
7515-00-12 Plug 3/4" - 16 UNF
7515-00-17 Plug 11/16” - 12 UN
7515-00-21 Plug 15/16” - 12 UN
7515-00-26 Plug 15/8"-12 UN
7515-00-30 Plug 17/8"-12 UN
7C14 721

Plug-in

PRODUCT GROUP 700

Part number Type WEO RGE
Size
7C14721-06-06  Plug-in 13 mm G 3/8"
7C14721-06-08  Plug-in 13 mm G 1/2"
7C14721-08-06  Plug-in 16 mm G 3/8"
7C14721-08-48  Plug-in 16 mm G 1/2"
7C14721-12-08  Plug-in 23 mm G 1/2"
7C14721-12-12  Plug-in 23 mm G 3/4”

Part number Type Thread
7506-00-02 Cover G 1/8" F
7506-00-04 Cover G 1/4" F
7506-00-06 Cover G 3/8"F
7506-00-08 Cover G 1/2" F
7506-00-10 Cover G 5/8" F
7506-00-12 Cover G 3/4"F
7506-00-16 Cover G 1"F
7506-00-20 Cover G 11/4"F
7506-00-24 Cover G 11/2"F

7510

ROV-L

Din 3861

PRODUCT GROUP 700

7C14 810
Female M G-thread

PRODUCT GROUP 700

Part number Type WEO Thread
Size

7C14810-04-04 Plug-in female 10 mm G 1/4"

7C14810-06-06 Plug-in female 13 mm G 3/8"

7C14810-08-08  Plug-in female 16 mm G 1/2"

7C14810-12-12 Plug-in female 23 mm G 3/4"

7C14810-16-16  Plug-in female 30 mm G 1"
7C14 811
Plug female

PRODUCT GROUP 700

Part number Type Thread
7510-00-06 ROV 6L M12x1,5M
7510-00-08 ROV 8L M14x1,5M
7510-00-10 ROV 10L M16x1,5M
7510-00-12 ROV 12L M18x1,5M
7510-00-15 ROV 15L M22x1,5M
7510-00-18 ROV 18L M26x1,5M
7510-00-22 ROV 22L M30x2,0M
7510-00-28 ROV 28L M36x2,0M
7510-00-35 ROV 35L M45x2,0M
7510-00-42 ROV 42L M52x2,0M
7510-01
ROV-S
DIN 3861

PRODUCT GROUP 700

Part number Type Thread
7510-01-06 ROV 65S M14x1,5M
7510-01-08 ROV 8S M16x1,5M
7510-01-10 ROV 10S M18x1,5M
7510-01-12 ROV 12S M20x1,5M
7510-01-14 ROV 14 S M22x1,5M
7510-01-16 ROV 16 S M24x1,5M
7510-01-20 ROV 20S M30x2,0M
7510-01-25 ROV 25S M36x2,0M
7510-01-30 ROV 30S M42x2,0M
7510-01-38 ROV 38S M52x2,0M

PRODUCT CATALOGUE

Part number Type WEO Thread
Size

7C14811-04-00 Plug female 10 mm 1/4"

7C14811-06-00 Plug female 13 mm 3/8"

7C14811-08-00 Plug female 16 mm 1/2"

7C14811-12-00 Plug female 23 mm 3/4"

7C14811-16-00 Plug female 30 mm 1”




CHAPTER 7 ADAPTORS

=B

7C14 723

Plug male

PRODUCT GROUP 700

7C14 812
Plug-in kit

PRODUCT GROUP 700

Part number Type WEO

Size
7C14723-04-00 Plug male 10 mm
7C14723-06-00 Plug male 13 mm
7C14723-08-00 Plug male 16 mm
7C14723-12-00 Plug male 23 mm
7C14723-16-00 Plug male 30 mm

7C14 826

Female M SAE-0

PRODUCT GROUP 700

Part number Type WEO Thread
Size
7C14826-04-07  Plug-in female 10 mm 7/16-20 UNF
7C14826-06-09 Plug-in female 13 mm 9/16-18 UNF
7C14826-08-12 Plug-in female 16 mm 3/4-16 UNF
7C14826-08-14  Plug-in female 16 mm 7/8-14 UNF
7C14826-08-17  Plug-in female 16 mm 11/16-12 UN
7C14826-12-17 Plug-in female 23 mm 11/16-12 UN
7C14826-16-21  Plug-in female 30 mm 15/16-12 UN
7C14 830

Female M G-thread

Built-in rubber sealing

PRODUCT GROUP 700

Part number Type WEO Thread
Size
7C14830-04-04 Plug-in female 10 mm G 1/4"
7C14830-06-06 Plug-in female 13 mm G 3/8"
7C14830-08-08 Plug-in female 16 mm G 1/2"
7C14830-12-12 Plug-in female 23 mm G 3/4"
7C14830-16-16  Plug-in female 30 mm G1”
7C14 831

Female M M-thread

150 6149-3

PRODUCT GROUP 700

Part number Type Size Thread
7C14812-04-22 Plug-in kit 1/4" M22x1,5
7C14812-06-24  Plug-in kit 3/8” M24x1,5
7C14812-08-27  Plug-in kit 1/2” M27x1,5
7C14812-12-36 Plug-in kit 3/4" M36x1,5

7C14 824

Female M JIC

PRODUCT GROUP 700

Part number Type WEO Thread

Size

7C14824-04-07  Plug-in 10 mm 7/16"-20 UNF
7C14824-06-09 Plug-in 13 mm 9/16"-18 UNF
7C14824-08-12  Plug-in 16 mm 3/4"-16 UNF
7C14824-08-14 Plug-in 16 mm 7/8"-14 UNF
7C14824-08-17 Plug-in 16 mm 11/16"-12 UN
7C14824-12-17  Plug-in 23 mm 11/16"-12 UN

3C14 748

Plug-in release ring

PRODUCT GROUP 300
Part number Type WEO No./
Size package

3C14748-04-00 1/4" Release ring 10 mm 10
3C14748-06-00 3/8" Release ring 13 mm 10
3C14748-08-00 1/2" Release ring 16 mm 10
3C14748-12-00 3/4" Release ring 23 mm 10
3C14748-16-00 1" Release ring 30 mm 10

3C14 749

Plug-in assembly stop

PRODUCT GROUP 300

Part number Type WEO Thread
Size

7C14831-06-12  Plug-in female 10 mm M12x1,5
7C14831-06-16  Plug-in female 10 mm M 16 x 1,5
7C14831-08-18  Plug-in female 16 mm M18x1,5
7C14831-12-22  Plug-in female 23 mm M22x1,5
7C14831-12-27  Plug-in female 23 mm M 27 x 2,0

7C14 847

2 >

Packing kit female
With 0-ring and support ring

PRODUCT GROUP 700

Part number Type WEO

Size
7C14847-04-00  Packing kit female 10 mm
7C14847-06-00  Packing kit female 13 mm
7C14847-08-00 Packing kit female 16 mm
7C14847-12-00  Packing kit female 23 mm
7C14847-16-00  Packing kit female 30 mm

Part number Type =) No./

Size package
3C14749-04-00 1/4” Assembly stop 10 mm 10
3C14749-06-00 3/8” Assembly stop 13 mm 10
3C14749-08-01 1/2” Assembly stop 16 mm 10
3C14749-12-00 3/4” Assembly stop 23 mm 10
3C14749-16-00 1” Assembly stop 30 mm 10

PRODUCT CATALOGUE




